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Answer the questions

1

(2)

(3)
(4)
(5)

(6)

From a towear an a straight road, the anglas of depression of wo cars al an instant are 45° and
GO°_If the cars are 50 m apart, find the haight of the tlower.

; 2g indg
Simphify _S98 ain
1—tand + sind—cosd

Find salution of quadratic equation 2a2 + 4a - 16 = 0
What is the probability that a leap year will contain 53 Tuesdays?
Simglify | _sin®d+4cas?g

sind—+4casd

Thea sum af the squares of lwo conseculive nalural numbers is 145, Find the numbers.

Choose correct answer(s) from given choice

(7}

(8)

(2)

A die has numbers 1 to &, such thal sum of cpposite faces are ahways 7. Which s the correct
wiew of dia ?

B! Z
b= 5 s d
a. 7/ b. |~
3 E]
= 5 4 5
c. 7// d. e

Simplily cos%8 + sinfe8 + 3 cos?e sina
a. sing = cose b. 1
c. 1- sinB cosB d. sind cosd
Which af the following is the next bwa tarms in the saries
O E W FT.6 R, .

a.H, P b. G, O
c. |, O d. |, &
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